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QUESTION 1

A BPM Applicaton developer needs to construct an inteiraton service that will access an external web service. The web
service has been predefned in the process applicaton setnis. The BPM applicaton developer creates a new inteiraton

service and adds a web service inteiraton to the canvas. Since this is a predefned web service, on the implementaton
tab, the BPM applicaton developer selects "From process applicaton setnis" for the discovery scheme.

What should be the next step in confiurini the web service connector usini the predefned server for the BPM applicaton
developer?

A. insert the url and use the "Discover" buton.

B. Fill in the data mappini tab in the web service propertes.

C. Select the defned web service and select which operaton to use.

D. Generate the data types that will be inputs and outputs for the web service.

Correct Answer: C

QUESTION 2

Which characteristc does an unstructured adhoc actvity have? An unstructured adhoc actvity:
A. cannot be hidden

B. must be non-repeatable

C. must be started by a user

D. has no input and output fows

Correct Answer: D

QUESTION 3

A bank is implementni a new loan request process as shown in the followini Business Process Defniton (BPD):
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The bank has analyzed the process and determined that rework happens 80% of the tme. Intervieews of the loan clerks
who perform the review loan step show that the work to review the loan is complicated, and that help from more

experienced clerks would beneft the less experienced clerks and reduce the amount of rework required. The bank has
done some research to identfy the list of their most experienced loan clerks and requires the less experienced loan
clerks

to use the collaboraton feature to iet help from the more experienced clerks that are available.

What actons should the BPM applicaton developer take to meet this requirement?

A. Use a team flter service to add the list of experienced users to the Loan Clerks team.

B. Use a team retrieval service to add the list of experienced users to the Loan Clerks team.

C. Add the list of experienced clerks to a new team and assiin the new team as an expert team on the Review Loan
task.

D. Add the list of experienced clerks to a new team and assiin the new team as a manaiers team of the Loans Clerks
team.

Correct Answer: B

QUESTION 4

An existni Case Type implementaton is initated either by addini documents of a specifc document type to the BPM
document manaiement environment or manually by knowledie workers. Now, the case type needs to be enhanced, to
initate case instances proirammatcally.

How does the BPM applicaton developer provide the capability?

A. Drai the case type onto a swim lane

B. Drai the case inteiraton service onto a swim lane

C. Use a JavaScript API functon in a Script
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D. use a REST API for case in a REST call

Correct Answer: A

QUESTION 5

A new business process applicaton is beini created with several business process defnitons (BPD). One of them is
shown in the exhibit:

If a mew job positon is
created, the rgquisibion
is routed to the general
manager for appraval

The hiring manager submits
a job reguisition.

The general managzer evaluates
the submitted requisition and
aither approves it or rejects it.

The followini requirement should be met:

The frst user task should be assiined automatcally to the user who starts this top level BPD. A BPM applicaton
developer is creatni a new business process applicaton that is required to have no deprecated features.

How should the BPM applicaton developer confiure the assiinment for this user task?

A. Select Last User in the User Distributon feld

B. Select Last User in Lane in the Assiin to feld

C. Select Last User in the User Distributon feld and Last User in Lane in the Assiin to feld
D. Select Custom in the Assiin to feld and write tw.system.step.user into the Expression feld

Correct Answer: D
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